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Bruce Edwards
11-03/813r9
4
Needs definition of interoperable. What level of interoperability is acceptable?
Remove requirement, or define what the metric is.
TY





Bruce Edwards
11-03/813r9
5
Needs definition of interoperable. What level of interoperability is acceptable?
Remove requirement or define what the metric is.
TY





Bruce Edwards
11-03/814r17
1.4
Make an explict statement in each CC specifying it as mandatory or optional
Explicit statement in each CC
E





Bruce Edwards
11-03/814r17
2
Definition of interoperable is subsumed by backward compatible. The support of both these terms is required in 11-03/813r9. As such interoperable is redundant. 
Move the definitions into 11-03/813r9. Define what level of interoperability is required.
TY





Bruce Edwards
11-03/814r17
4
The usage of the PRI column is inconsistent. Pick one nomenclature and use it.
Use H, M, L for priority level
E





Bruce Edwards
11-03/814r17
CC6
A metric which can be stated in any units will not be comparable between proposals. There is no good metric for complexity of implementation. Every proposal will come in with a low complexity measure.
Remove this CC. 
TY





Bruce Edwards
11-03/814r17
CC7
A metric which can be stated in any units will not be comparable between proposals. There is no good metric for complexity of implementation. Every proposal will come in with a low complexity measure.
Remove this CC. 
TY





Bruce Edwards
11-03/814r17
CC9
This CC is very confusing. It claims to be a power estimate, but it only measures EIRP. This assumes a constant efficiency of the transmitter, and that EIRP is the only thing that affects power consumption. This makes no sense to me.
Remove this CC.  There is nothing meaningful to be gathered from it. People will need to argue about the power consumption anyway. Different implementation s will make vast differences in the power consumption.
TY





Bruce Edwards
11-03/814r17
CC11
Interoperability is subsumed within backwards compability and is not mentioned in the text.
Remove interoperability from this CC. A more meaningful measure is presented in CC15.
TY





Bruce Edwards
11-03/814r17
CC18-19
Specification of metrics to be measured are in two colums. Remove one
Make the disclosure column refer to the description.
E





Bruce Edwards
11-03/814r17
CC24
This metric is not very useful for comparison. For example a station which chooses an unreasonably low transmission rate, but uses the medium well will score worse than a station which chooses a high rate, and is slightly inefficient it is usage of the medium.
Remove this CC.
TY





Bruce Edwards
11-03/814r17
CC50
Not sure how a proposal would have a differentiated throughput on encrypted data versus unencrypted. A random source of data for the goodput should be equivalent for simulation purposes. Effects other than coding would be too implementation dependent to be meaningful.
Remove this CC.
TY
















Bruce Edwards
11-03/814r17
CC80
Not sure what this is trying to specify. Is this asking about what changes would need to be made to a legacy phy in order to interoperate better with HT mode? If so, then I think it is meaningless, because legacy devices are already deployed, and not many manufacturers will redesign them to accomodate HT.
Remove this CC.
TY





Bruce Edwards
11-03/802r13
All
The document does not have a consistent page width
Fix it
E





Bruce Edwards
11-03/802r13
Applications
Real world TCP throughput is dependent on window size. The effects of packet loss on TCP transmissions are very subtle. Proposals which include these effects will be disadvantaged against those that do not. 
Specify a pseudo-TCP which has a simpler window model
TY





Bruce Edwards
11-03/802r13
Applications
Support addition by Sanjiv Nanda.
Include in text
TN





Bruce Edwards
11-03/802r13
Table 6, 19
This is probably pessimistic. Netmeeting does run over slower links (DSL < 384Kb)
Do some research and get a good number for this.
TN





Bruce Edwards
11-03/802r13
Usage Model
I could not understand the sentence starting "Does it make sense point"
Make it understandable.
TN





Bruce Edwards
11-03/802r13
Table 10, 1
Since this is trying to be a "worse case" home usage, the range is too small.
Increase to at least 25m
TN





Bruce Edwards
11-03/802r13
Table 10,2
There is a comment saying that all devices are operating on the same channel. I assume that this is true for all of these usage cases.
Remove the statement here, and place above the table
TN





Bruce Edwards
11-03/802r13
Table 10,2
I doubt that there will be IBSS operation in the home for HT. The interesting cases are covered by usage case #1.
Remove this usage case
TY





Bruce Edwards
11-03/802r13
Table 10,5
I don't understand the high content of VoIP for a conference room. Also there should be more external access in this case (server FTP or internet access).
Remove VoIP stations
TN





Bruce Edwards
11-03/802r13
Table 10,8
Hot spot should include legacy operation.
Convert 50% of the STAs in each application area to legacy.
TY





Bruce Edwards
11-03/802r13
Scenario 1
Are the peer-to-peer transfers in the same channel as the AP transfers?
Specify that all STAs operate on the same channel. If the channels are different, remove them from the simulation scenario.
TY
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